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QUESTION 1

Which of the following commands can remove a user from a group? 

A. grouprm 

B. groupmod 

C. passwd 

D. usergroups 

E. usermod 

Correct Answer: E 

 

QUESTION 2

In order to discover the link layer address of the device that owns a specific IPv4 or IPv6 address, which mechanism is
used? 

A. Both IPv4 and IPv6 use ARP. 

B. Both IPv4 and IPv6 use Neighbor Discovery. 

C. IPv4 uses ARP while IPv6 uses Neighbor Discovery. 

D. IPv4 uses Neighbor Discovery while IPv6 uses ARP. 

E. Both IPv4 and IPv6 can use either ARP or Neighbor Discovery depending on the network. 

Correct Answer: C 

 

QUESTION 3

For accessibility assistance, which of the following programs is an on-screen keyboard? 

A. xkb 

B. atkb 

C. GOK 

D. xOSK 

Correct Answer: C 

 

QUESTION 4
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With IPv6, how many bits have been used for the interface identifier of an unicast address? (Specify the number using
digits only.) 

A. 64 

Correct Answer: A 

 

 

QUESTION 5

Which of the following find commands will print out a list of files owned by root and with the SUID bit set in /usr? 

A. find /usr -uid 0 -perm +4000 

B. find -user root +mode +s /usr 

C. find -type suid -username root -d /usr 

D. find /usr -ls \*s\* -u root 

E. find /usr -suid -perm +4000 

Correct Answer: A 

 

QUESTION 6

Which configuration file would be edited to change the default options for outbound SSH sessions? 

A. /etc/ssh/sshd_config 

B. /etc/ssh/ssh 

C. /etc/ssh/client 

D. /etc/ssh/ssh_config 

E. /etc/ssh/ssh_client 

Correct Answer: D 

 

QUESTION 7

How many bits make up an IPv6 address? 

A. 32 

B. 48 

C. 64 

LX0-104 PDF Dumps | LX0-104 VCE Dumps | LX0-104 Exam Questions                                3 / 6

https://www.pass4itsure.com/lx0-104.html
https://www.pass4itsure.com/lx0-104.html
https://www.pass4itsure.com/lx0-104.html


https://www.pass4itsure.com/lx0-104.html
2024 Latest pass4itsure LX0-104 PDF and VCE dumps Download

D. 128 

E. 256 

Correct Answer: D 

 

QUESTION 8

Which of the following are operators used for comparison by the test command? (Choose two correct answers.) 

A. equals 

B. = 

C. –is 

D. –eq 

E. null 

Correct Answer: BD 

 

 

QUESTION 9

Which of the following statements is valid in the file /etc/resolv.conf? 

A. order hosts, bind 

B. 192.168.168.4 dns-server 

C. hosts: files, dns 

D. domain example.com 

Correct Answer: D 

 

 

QUESTION 10

Which command can be used to investigate the properties for a particular window in X by clicking that window? (Specify
ONLY the command without any path or parameters.) 

A. /usr/bin/xwininfo -or- xwininfo 

Correct Answer: A 
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QUESTION 11

When the command echo $$ outputs 12942, what is the meaning of 12942? 

A. It is the process ID of the echo command. 

B. It is the process ID of the current shell. 

C. It is the process ID of the last command executed. 

D. It is the process ID of the last command which has been placed in the background. 

Correct Answer: B 

 

QUESTION 12

Which of the following files is consulted when programs like netstat try to match port numbers to names? 

A. /etc/networks 

B. /etc/portmapper 

C. /etc/protocols 

D. /etc/resolv.conf 

E. /etc/services 

Correct Answer: E 

 

QUESTION 13

Which of the following may occur as a consequence of using the command ifconfig? (Choose THREE correct answers.) 

A. New name servers may be added to the resolver configuration. 

B. Network interfaces may become active or inactive. 

C. The routing table may change. 

D. IP addresses may change. 

E. The system\\'s host name may change. 

Correct Answer: BCD 

 

QUESTION 14

What is true regarding public and private SSH keys? (Choose two correct answers.) 
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A. Several different public keys may be generated for the same private key. 

B. The private key must never be revealed to anyone. 

C. For each user account, there is exactly one key pair that can be used to log into that account. 

D. To maintain the private key\\'s confidentiality, the SSH key pair must be created by its owner. 

E. To allow remote logins, the user\\'s private key must be copied to the remote server. 

Correct Answer: BD 

 

QUESTION 15

With syslog, what is a facility? 

A. Facilities are different connection interfaces to syslog. Each facility has its own device in /dev/syslog/. 

B. From syslog\\'s point of view, each Unix process that issues messages is a facility. 

C. Facilities describe the severity of a log message such as emerg or info. 

D. When using remote logging, the hostname of the server that generated a message is called facility. 

E. Facilities describe categories or groups of messages such as mail or auth. 

Correct Answer: E 
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